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MOtS = At 9,457,901 8,612,570 845,331
22 XGHY A 5,462,755 4,617,424 845,331
NS =0I=RAY 3,711,850 2,866,519 845,331
272 FOUSJAAL (XA ) 2,465,786 2,418,329 47,457
401 Al&HIZ204YI 2,465,786 2,418,329 47,457
58,657 56,200 2,457 102 & Al A I 2,457
OUsH=EXs2 SASEA SIS At A& A
45,000,000 +5.46/100 = 2,457
2,395,937 2,350,937 45,000( 04 Al&Hl 45,000
OUzH=EXz 2 SASEA AXSA
45,000,000& 1= = 45,000
A7R FO=SFAAL(BE) 1,157,664 359,790 797,874
401 AlEHIZ 2O 1,157,664 359,790 797,874
31,229 8,206 23,023 (02 & Al A BI 23,023
OLARF0=JAAMY AAIEAL
770,000,000& *2.99/100 = 23,023
1,120,000 350,000 770,000( 04 Al&Hl 770,000
OFIIH F&12l Az FUISA
60,000,000& *14A! = 60,000
= 30,000]
[Al 30,000]
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OTEZE 7H2 52 ZHZA
120,000,000 *14! 120,000
(= 50,000]
[Al 70,000]
OTEBEE 452 52 ZHZA
100,000,000 * 14! 100,000
(= 50,000]
[Al 50,000]
Osdle 8x22l HISTYR HUISA
100,000,0002 * 14! 100,000
(= 50,000]
[Al 50,000]
OZ3E edfel 58 ZRIA
120,000,0002 *14! 120,000
(= 50,000]
LAl 70,000]
OEdle theieel 52 ZTHBAL 70,000,0008 14 70,000
(= 35,000]
[Al 35,000]
O3S 8SAU DISTYR 243 AF
100,000,0002 * 14! 100,000
(= 50,000]
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[Al 50,000]

OXFoldH &0l ofl¢=2 MAHYE ZX3At
100,000, 000& * 14!

100,000
== 50,000]
[Al 50,000]
6,435 1,584 4,851(06 Al&=0HYI 4,851

770,000,000 *0.63/100

4,851




